

Oblicz:

$12 - 1 =$

$-6 - (-1) =$

$9 : (-3) =$

$2 - 10 =$

$17 - (-3) =$

$(-6) : 3 =$

$-4 + 7 =$

$-6 - (-9) =$

$(-18) : (-6) =$

$-9 + 6 =$

$(-2) \cdot 3 =$

$16 : 2^4 =$

$11 + (-5) =$

$4 \cdot 5 =$

$-(-4) \cdot 11 =$

$14 - (+6) =$

$(-4) \cdot (-5) =$

$-[-(-12)] : 4 =$

$-2 + (-10) =$

$8 \cdot (-2) =$

$|-6| + |-5| =$

 $-2 + (-3) + (-10) =$

$2 \cdot (-2) + 3 \cdot (-3) =$

$12 - 3 \cdot (-3) =$

$(-2) \cdot (-6) + 4 : (-2) =$

$13 + (-4) \cdot 2 - (-6) : 3 =$

$-3 + 17 + (-11) + 2 + 11 + (-17) =$

$15 : (-5) \cdot 6 - 3 \cdot 4 : (-2) =$

$2^3 + (-3)^2 - (-2)^4 + (-1)^{99} =$

Do sumy liczb: -4, -5 dodaj różnicę liczb: 2 i 6.

Dane są liczby -9 i -3. Do iloczynu tych liczb dodaj ich iloraz.